Filter set 49

DAPT

excitation: G 365
beamsplitter: FT 395
emission: BP 445/50
o 488049 - 9901
(typical curves)
/v\/\/—\ J\,’\
I |
] I
80 - i 1
| I
I |
I I
| |
60 | |
| |
| I
| I
| |
40 | |
I |
l |
| |
20 | |
| I
| I
| |
| [ \
0 q h 4
300 350 400 450 500 550 600 650 700 750
= eXcitation beamsplitter === emission A [nm]
| - CEP
n excitation: BP 436/25
Fllter Set 47 HE beamsplitter:  FT 455
i 489047 - 9901 emission: BP 480/40
106 (typical curves) : "
N
‘] ! / |
| ' '*
I
80 e sl ! ......... ' ________________________ N
! l
| I
| ! |
60 - i —— Ly : __________________________ - I
| 5
[ |
! z
l ' |
|
40 | ........................................................................
I
|
| f
20 - A1 T P e : e . e ey VU ST
|
|
I
O T I I n‘l‘ 1
300 350 400 450 500 550 600 650 700 750
= eXxcitation beamsplitter === emission A [nm]




| gt ecF?
H tation: BP 470/

Fllter Set 38 HE E::.]r:_slgl?tter: FT 495 o

oy 489038 - 9901 emission:  BP 525/50

100 +— (typical curves)

,f’“ft\’
iy
80 ST o

60 | T
40 I\

20 -
L |
|
| f
300 350 400 450 500 550 600 650 700 750
excitation beamsplitter === emission A [nm]
o 46 HE excitation:  BP 50025 \FP -
Filter set beamsplitter:  FT 515
emission: BP 535/30
oy 489046 - 9901

(typical curves)

fﬁ W‘\\ T+
oy
VI ARV A A

|
|
|
|
Ly
|
|
L
:I
|
|
I
|
LA L
40 Ii v
|
| U
@l )
Ly
|
:I
o
l|
|

20 ' i \
v |
/ |
4/ ~
0 g

200 300 400 500 600 700 800 900 1000 1100 1200

—

T

) |

= oxcitation beamsplitter = == emission A [nm]




"\'Tz_':‘\’c,/

Filter set 43HE (5700 Fron . (3.
489043 = 9901 emission: BP 605/70
IO[ O/] e (typical curves) \
80 T
40 \/ v \/\ /\ \
20 //\‘/ Vf\ \
N ! . I
300 350 400 450 500 SSQ 600 650 700 750
excitation beamsplitter - == emission A [nm]
ey 0:5:.
Filter set 50 e er B
emission: BP 690/50
oy 488050 - 9901
10[00] (typical curves)
80 /\/\
60 \ /A\ //\\ / |
: A L
W Il J I
0 N7
300 350 400 450 500 550 600
= eXCitation beamsplitter = == emission A [nm]




: m P
. excitation: BP 572/25 )
Fllter Set 63 HE beamsplitter:  FT 590
__—_— 489063 - 0000 ., emission: BP 629/62

(typical curves)

100 - =
80
60 |
aod o
204 .................. ........... ,,,,,,,,,,,,,,,, ___________ | _________ i
300 350 400 450 500 550 600 650 700 750

——  eXcitation ——— beamsplitter emission A [nm]




